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@& Cosmo School

Chapter: Measurement

Solution of Lecture -3

1. (104 page 4 )
Express in gram

Ans 1:
We know,
1 kg =1000g
Therefore, 4 kg = 4 x 1000 = 4000 g
Ans 2:
We know,
1 kg = 1000 g
Therefore, 6 kg = 6 x 1000 = 6000 g
Ans 3:
We know,
1 kg = 1000 g

Therefore, 7 kg = 7 x 1000 = 7000 g

7 killogram 300 gram =7000 g + 300
=7300g

Ans 4:

We know,

1 kg =1000g
Therefore, 8 kg = 8 x 1000 = 8000 g

8 killogram 850 gram
=8000 g + 850 ¢g
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= 8850g

Extra
Ans 5:
We know,

1 kg =1000g
Therefore, 2 kg = 2 x 1000 = 2000 g

2 killogram 355 gram
=2000 g + 355 g = 2355¢g

Ans 6:

We know,

1 kg
Therefore, 2 kg

1000 g
2 x 1000 = 2000 g

2 killogram 450 gram
=2000g + 450 g

= 2450g

Ans 7:

We know,

1 kg =1000g
Therefore, 4 kg = 4 x 1000 = 4000 g

4 killogram 325 gram
=4000g + 325¢
=4325¢g

Ans 8:

We know,

2|Page



Class: 3
Subject: Mathematics

Prepared by Shameema Akhtar
Date: 1/10/2020

1 kg =1000g
Therefore, 5 kg = 5 x 1000 = 5000 g

5 killogram 800 gram
=5000g + 800 g

= 58009

Ans 9:

We know,

1 kg
Therefore, 6 kg

1000 g
6 x 1000 = 6000 g

6 killogram 856 gram
=6000 g + 856 g

= 68569

Ans 10:

We know,

1 kg
Therefore, 9 kg

1000 g
9 x 1000 = 9000 g

9 killogram 850 gram
=9000 g + 850 ¢g
= 9850g

2. Ans a:iv)1000 gm
Ans b:iv) Gm

Ans c: iv) eraser, book, pumpkin, Almira
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